3 A BEE A HIFR B & X 2022438208 (A)

BRI TEEL
[ —RDER ] [ =7 LTARDER ]
J[EXive K 4 NET HDCP TOTAL ouT | N OUT NET J[EXive K 4 NET HDCP TOTAL ouT | N OUT NET
B B [A-—-& 69 15 84 (39 45 ) 315 B B N EE 65 14 79 41 38 ) 34.0
26 HA K 69 14 83 (39 44 ) 32.0 200 AR 65 20 85 ( 47 38 ) 37.0
M @ = 69 6 75 ( 37 38 ) 34.0 M KNE ER 66 25 91 ( 45 46 ) 325
A R = 70 24 94 (46 48 ) 34.0 4 TR B 68 13 81 (40 41 ) 33.5
bz tRE #H— 70 16 86 ( 48 43 ) 35.0 56 HHO BE 68 13 81 (40 41 ) 33.5
67 EX KM 70 14 84 ( 42 42 ) 35.0 647 EMH F—HB 68 17 85 ( 43 42 ) 345
Th  EW ET 70 29 99 (50 49 ) 35.5 P AR N3 68 13 81 41 40 ) 345
8y EBEHXEE 70 9 79 ( 4 38 ) 36.5 8 EH I 68 15 83 ( 44 39 ) 365
9 HEEE 71 30 101 ( 51 50 ) 36.0 9z T EHFE 69 21 90 ( 42 48 ) 315
1062 HTH 1= 72 23 95 (46 49 ) 3456 1067 #EAR #58A 69 30 99 (48 51 ) 33.0
1M ARE HEE 72 6 78 ( 38 40 ) 35.0 114 "I IEEA 69 29 98 (50 48 ) 355
1260 #tEA Rk 72 20 92 (47 45 ) 37.0 1262 AT B 70 25 95 (49 46 ) 36.5
1361 fELL S 72 13 85 ( 44 41 ) 375 1347 f8E T 70 29 99 (51 48 ) 36.5
146 HBE =& 73 7 80 (40 40 ) 36.5 14461 EiR ¥ 70 30 100 ( 52 48 ) 37.0
1560 BEA T4 73 13 86 (43 43 ) 36.6 1567 HME &F 70 12 82 (44 38 ) 38.0
1660 A E£E&E 73 18 91 (46 45 ) 37.0 1646 HLE H— 71 18 89 ( 43 46 ) 34.0
176 HA HER 73 5 78 ( 40 38 ) 375 176 KB ER 71 22 93 (46 47 ) 350
186 AR XKE 73 8 81 ( 43 38 ) 39.0 186 FH&E B— 71 23 94 ( 48 46 ) 36.5
196 LUK &R 73 17 90 ( 48 42 ) 39.5 197 HBEAHZ 71 21 92 ( 48 44 ) 375
206 X =H 74 7 81 (36 45 ) 3256 20060 AREHBA 72 17 89 (40 49 ) 31.5
2561 AH EZ 75 24 99 ( 47 52 ) 35.0 2561 #ERA 73 26 99 ( 48 51 ) 35.0
30hL K EE 75 25 100 (51 49 ) 38.5 307 #EEE 73 15 88 (47 41 ) 39.5
KT A= i 753 76 0 76 (39 37 ) 39.0 356I AL HEEF 74 28 102 (51 51 ) 37.0
4061 M EXR 77 12 89 ( 46 43 ) 40.0 4061  HE TH 76 29 105 ( 53 52 ) 38.5
4561 BH & 78 17 95 (49 46 ) 40.5 451 M HEB 78 23 101 (46 55 ) 34.5
5062 IUEH £7 79 28 107 ( 52 55 ) 38.0 5060 EHEB 80 17 97 (47 50 ) 38.5
606 B4R ERM 80 13 93 ( 48 45 ) 415 6067 GEAR EfT 82 18 100 (49 51 ) 400
704 YEE ®HA 81 23 104 ( 58 46 ) 46.5
8046 ERAK ME 856 15 100 (b2 48 ) 445

BBE =t —3A 88 30 118 (62 56 ) 47.0 BBE HHH#E 88 30 118 (62 56 ) 47.0
BGE s = 75 ( 37 38 ) Par 72 —Ab—t  ZRE—=TL—h

Bit(EF) 6,606 yard 713 128

Bit(8H) 6,237  yard 69.5 123

Bit(£) 5892  yard 68.1 119

Bi(%) 5,281 yard 64.9 114

(%) 5,281 yard 70.1 123

ZiE(FR) 4878  yard 67.8 119




